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V H Vs/Ves(31= )

AWﬁﬁv%ﬂiﬁfﬁ
ok (R
B. used to + Vrt
be used to + Ving

1. It snows in Alaska. (Alaska {
2. | watch TV every day. (5% & =~ E[Fﬁﬁﬁﬁ ° )
3. If it rains tomorrow, | won't come.
(RS R 5 R
4. He is used to getting up early. ({4 ?’W?ﬁ[{é_l °)

2 FEST

be (am/are/is) + Ving

T R A
be, know...,

B. look, listen, watch!
BT P 2R o

C. SN -

have understand belong to

&y

1. He is sleeping right now. ({91 ET‘?‘* )
2. Listen! The birds are singing. (Z£! g4 pd 71 B Pﬁ )
3. lam leaving. (ZY -1 o ) <hH o>
4. 1 am understanding. (7&)
I am knowing the truth. ()
I am being a student. (&)

3. Ay

have (has) + Vpp

A. S + have + Vpp
since + S + Vpt
(since 7 {0 E])

B. for + — F&Eﬁﬁgﬂ
since + 4’5}? Eﬁf&ﬂ

C. recently = so far
= up to now = as yet
= up to the present

D. have been to
have gone to

E. already / yet / still

1. I have already eaten. (Z5 i+ © )

2. | have lived in Taipei for 3 years.
gz = E57e)

3. I have lived here since my childhood.
= | have lived here since | was a child.

(AR 30 )

4. He has been to HK many times. ({7 3 HK 4+2%.% -

He has gone to HK. (FI=I52Z]H A 7 -)
5. He has already eaten. (f*=173Z]2 gg o)
He has not yet arrived. (9 i)+ £ - )

)

4. Ry LS

have (has) been + Ving

AZH LT 5 P (e -

1. I have been studying for two hours.
(i&d‘“‘pd, 3 TEﬁF{fj?i]’ o)
2. | have been living in Taipei for 3 years.
Gy dfEr=Fe)

5. 37 =

Vpt

ALLRIE xﬁﬁ ET 1. It snowed yesterday. (= 20 )
- EH 2. He burst into crying. (|}’17L,71%|ELE Vs o)
B-Eﬁlihﬂ“ REHBEA =4 =] 1t cost me ten dollars. (iF%ﬁJE“[TUJ‘?H Foe)
’P'“éﬁ:tzi
6. @A ESF was (were) + Ving
ﬂﬂ‘ X 5 & Eﬂj 1. When you called yesterday, | was taking a bath.
Y IR g e (PP B B YN )

had + Vpp

7. S KR
AFIEIT= [~ %
f/#: had + Vpp

1. The train had left when | arrived.
CYEBER - PRI RERIE )

2. He had hardly arrived when it began to rain.
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% #H: Vpt = Hardly had he arrived when it began to rain.
B. hardly ... when - MIEIE ™ &y o)
= scarcely.. before
= no sooner .. than
8. T HAyESF had been + Ving
- B SRy f/éﬁrﬂ?} 1. I had been studying for 2 hours before my friend came.
¥ e CyIIS Iy Py =EFR T v e
9. F o=t shall (will) + Vrt
A. be going to = be aboutto  |1. It will snow tomorrow. (=37 = ¢ )
= be to (fffel)+ Vrt 2. | am going to leave for Paris. Eﬂ}["’fﬂ“ 1B o)
B. shall / will + Vrt 3. There will be a fine day tomorrow.
C. there will be (F[EJ:\ ﬁﬂ[’ﬁ@‘:\i“ o )
10. A &~ shall (will) be + Ving
1. He will be sleeping when we arrive.
11, F Jesryst shall (will) + have + Vpp
1. I will have already eaten when they come tomorrow. ([#|
NElESS e Sl R
12, F PRy ESF shall (will) have been + Ving
A. élFi%Ht #sﬁﬁ flf =135 |1. I will have been studying for 2 hours when you come
E‘}Eﬁjgﬁj = tomorrow. (fE= r’ﬁviéﬁq ) f?ﬂfj’il%?}: | E?t] o)
B. Adv.cl, S +5% b (3£ 2. When he arrives, | will have been working for 3 hours.
i7) + for + — FEE adv.cl FRHAES  +for - BT

2 BIRGEF
Wit v B AT e s R
1. =gl v Frif_?J:
If+ =5 + ~were, = +{should + RUE gﬁjﬁ

Vpt would
could
might
If I were a bird, | would fly to you. (BU[IZVELES, :’Ly}[ij’imm o)
= Were | a bird, | would fly to you. <If & ﬁfpg >

(2) =55 s e
If+ =& +had Vpp..., =5 +{ would have Vpp ...

K should
could
might

If he had studied hard, he would have succeeded. ({57%
= Had he studied hard, he would have succeedeg (hejéﬁé
= As he didn't study hard, he didn't succeed. (=i Er)
= He didn't study hard, and he didn't succeed.
= He would have succeeded but he didn't.

(B B3 (g RS 00 )
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(3) == it~ b

would should
could could
might might
B.If+ =z +wereto+ Vrt..., =5 +_ would + Vrt
should
could

might

A lf+ =53 +{ should Vrt..., = i +{ would + Vrt (fﬁﬁr )

If it should rain tomorrow, | would call off the picnic.
= Should it rain tomorrow, | would call off the picnic.
(- PSPy B )
(4) IEET A SRR A
P R R -
1. wish [V 55 & ({EVE)(= O that = Would that = If only)
I wish(ed) L met my father now.
<§—’¢3ﬁﬁy{:@@ ,;{fj’gﬁgﬁa’;meg:{ = o>
I had met my father yesterday.
<A KRR IR R - >
< I could meet my father tomorrow.
<EEA YA ﬁﬁ'éﬁgrajﬁl'f% could + Vrt - >
should
would
\ might

2.asif/asthough ¥ HEEE % (FHY)
He talks as if ~ he m e{/erything.
<ZETI A ,}ﬁ’gﬂu::.ja’rm,eg? = o>
he had seen a ghost.
<A R S R - >
< he might not live long.
= S ﬂfj’éﬁ%ﬁ'i% could + Vrt o >
should
would
\ might

3. Itis (high/ about) time that he went to bed.
(AL ) <EFEA - >
he should go to bed
<R A o>

4. would rather / had better [ S & E[Ji_f.'J:
S+ would rather that + S+ were / th CEEF )
had better +S+had+Vpp (E3E A i)
| would rather that you did not join the army. (Z%&5E 5 [[TEHT © )
| had better that you had left. (Z &/5E o< TEER - )

3 —3



| 2014 TR el G

5.7 G| BRFREL) S + (should) + Vrt B4 -

-

1.S+ [ suggest (H!F), +that+S+ (should) + [ Vrt[= fi’]
order (Fb” *'AJ)’ { be + Vpp [KLE]
require (fo!75) not + Vrt [/ ]

request (fz131) * 3= Fu should e I') P -

recommend (7)),

< insist (E}?ﬁ), move (foI7f+)

decide (FL3E), ask (foI7f)

determine (3}7t), advise (#1))

demand (f17]%), desire (fi3]%),

propose (ff47), maintain (& 73)

\ urge (), stipulate (fo!1+),

S+  make a suggestion + (that) + S + (should) + ( Vrt [+ ]
give orders { be +Vpp [KLf]

give a command not + Vrt [F\[ ]
make a request
issue instructions
2.1tis  good, +that + S + (should) +  Vrt [ fi"]
mandatory (- 71iY) { be + Vpp [FLE7]
obligatory (= ’FIfi¥) not + Vrt [ ]

essential (£ fo1fiY) * {=Hi should | I') #ip -
< important, imperative («fIfi)

urgent (BX4[1V), necessary

wrong, vital (:g[gngm) right

proper (3 #if1V), advisable
\apity (f }E

be + Vpp [FfY]
not + Vrt (4 )

S + think it of importance + S + (should) +{ vrt [ Y]

1. I suggest that he go to bed early.<f[ (> (ZSHFFIREEE - )
I suggest that he be sent to the hospital <BLEI=> (75 HFGE Y £k <)
I suggest that_he not go to school.< —FI\‘ 7@_’@» CYEFEMHIE )

*‘t

EI%W I'J?‘E A REFE
1. EIF ﬁWF[JF} o Only by hard working can we succeed.
(FUE ) bgemy) )

2. ﬂ/?; EAYFEPETA Y | You can pass, and so can .
(s SR - )
He can't swim, nor can |.
= He can't swim, neither can |.

(P i 55 1 )
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1. If I were a bird, 1 would fly.
= Were | a bird, | would fly.

0

-

2. If 1 had had money, | would have bought it.
= Had | had money, | would have bought it.

3. If it should rain, I wouldn't go.
= Should it rain, | wouldn't go.

(> ST < )= < YA

4, FBH FIJ 1. Although he is poor, he is happy.
= Poor as he is, he is happy.
(PR s IS - )

2. Although she is a girl, she is strong.
= Girl as she is, she is strong.
(BPEEIREL I ® % - Al EGEE - )

5 = ?ﬁ]?ﬁ?ﬁ?fﬁ" F[JF] He is so tired that he can't move.
= So tired is he that he can't move.
(FMEIHEAETE <)

6. /A ?ﬁfg[' F[J?[ On the wall are three pictures.

= There are three pictures on the wall.

G -5 = |RE )

7. ¥4 nIEIEE vE1 | Here comes the bus. (N ©)

8. ik Jg‘ql?ﬁ ' He runs faster than a hare.
= He runs faster than does a hare.
(P2t Epu TR <)

YRS Y

1.as +adj/adv +as VB[

A. S +be/ifizs +as+adj+as+S

B. S +be/ifiss +as+adj+alan+N+as+S

C.S+V(- 4¥) +as+adv+as+S
2.as+ Rk +as= == L. AfIFIY
3.5+V+ ]’Ifﬁgi'r+as+adj/adv+as+s+v

=S+ V + [ + the N(age/size/weight/amount/number) of + ...
4. as + adj / adv + as possible = i’ fjefiY

= as possible as' S can = as possible as can be

5. Ayt notso (as) + pla¥ +as = not so much ... as
6.as +do + SV V[FEE

1. Heisastall as I. (fF9A1Z%~ ?F:%iﬁ,lj °)
He is as tall as me. ([ I%E'JH)
be adj
2. Heisastalleras I. () <as + fFl#% + as>
He is the same tall as | (&) <the same + N>
He is the same height as I. (941}~ %iﬁ,lj °)
3. Hemingway’s The Old Man and the Sea is as_famous as his

3 —5
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For Whom the Bell Tolls. (& PF 2 ~ =0 ya Pul by s ash— irszEJ # )
4. He walks as fast as I. (f9PSG A~ 52 o)
<fast iL_IE,'J;%J P [y fastly - >
He runs as quickly as a rabbit. ({*75& 4 fgrpi—"— £k <)
V adv
5. If you can type as guickly as she can, you must be very good indeed.

(G foed™ 2~ Bl > v e Bl o)
FIR 5| s

1. PGk + than (0 RGN ETHL <)
A. more ... than (He is more diligent than his brother.)
B -er. than (He is taIIer than I.)
. F! Jfﬁ Ul Jqﬂj@'r IV =4fif— 317 ] more ... than
2. the+ F=ias + of the two = oy [tk
A [n JH B P (He s the taller of the two.)
=K =] ﬁm 7 (He is the tallest of all.)
3. Iess+ U +than 3= HiEi 2
A.less+ T p'BrE i ] +than  (He has less money than I.)
B. less + adj/adv + than (He is less diligent than 1.)
4. AR e P
A F‘ﬁﬁﬁﬂ I YR that £FT
B. Fﬂf&ﬁﬁﬂﬁﬁﬁib VR those HF
a. His salary as a bus driver is more than that of a teacher.
= His salary as a bus driver is more than a teacher’s.
b. The houses of the rich are larger than those of the poor.

5 ZF Pt l—“—g’ftp’,'ﬂl He is taller than anyone. (;%)
A. than any other + Htg 5 He is taller than any other boy.
B. than any(thing) else He is taller than anyone else.

C. than all the other + N ¥ g He is taller than all the other boys.
6. JiEH] than/as i i (I -
He runs faster than | do. = He runs faster than do 1.

E’IEF[TG §,Jg Bz 3

1. % ﬁﬂﬁﬁ, {&FIJF-J i the - This is the fastest ship in the world.
fHﬁﬁfJ A= T fer vt the = This ship travels fastest.
- FE frE ﬁﬁp& The world’s highest mountain
3- f@ﬁp 'FIJFJ
the + ﬁﬁ,ﬁ& + ofall +(N)
among + fFlHEE
in+ B9
that + S + have ever + Vpp (G 7 5 75 =4)
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1. Itis+ %?{?ﬁj (* ;J/’ﬁ@t‘r) +(of + &F) +to+ Vrt
wise, smart, stupid, intelligent
foolish, kind, polite, courteous
generous, selfish, considerate,....
It is rude (of you) to interrupt other people’s conversation.
= Interrupting other people’s conversation is rude.
= That you interrupt other people’s conversation is rude.

(o Y] ORI € TR )

2. 1tis  + %?&,’?}j E -~ PrvE )+ (for + &FH) +to+ Vrt
easy, difficult, safe, dangerous
(im)possible, (un)necessary, convenient,
essential, crucial, important, satisfactory....

=8 Py e (3 PV > pE " b e
1. You are necess'ary to get up early. (=)
EeED: It is necessary for you to get up early. (r’ﬁcF%ﬁH@ o)

3.Itis + nouse + Ving = ... RLj2E B pY
It is no use crying over spilt milk. (% ~[<#4]> - )

4. Itislikely that+ SV = %) ... pYF'f< -
= It is probable (possible) that ....
= It seems that +SV
= * +islikely to + Vrt
= Itis probable for * to+ Vrt
It is likely that he will come. (4| f’ H‘:rs”ﬂ\ o)
= It is probable that he will come. = It seems that he will come.
= He is likely to come. = It is probable for him to come.
= He can probably come.

5. It is not until... that + SV = ﬁl?ﬂ R
(% f that £% &7 f)
= Not until + 5
It is not until we lose it that we realize the importance of health. (that = N.cl)
= Not until we lose it do we know the importance of health.
= Only after we lose it do we know the preciousness of health.
= We do not know the importance of health unless we lose it.
= We do not know the importance of health until we lose it.
= We realize the preciousness of health only after we lose it.

(R R SRR - )

(2) Itis+ (43 3FF ) +that+ + & (& &2 that 2353 #+ &)
[ ]
1. I visited John with Helen last night. (F&=&Z%[# Helen E% John -)
It was | that visited John with Helen last night.
It was John that | visited with Helen last night.
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It was with Helen that | visited John last night.

(3) #MiBEX3

1. S + think, find, consider, +it+N/Adj +to+Vrt
make, believe, regard, +that+ SV
deem, take, imagine,
suppose, count,

| think it impossible to live on the moon. (ZY%¢ H (=75 F| 5 FRLT F‘ iof e

2. = = + take it for granted that + 3° IﬁJ = I EEFH IR
| take it for granted that he can succeed. (%% i {4 ff %*}rﬁf@_}ﬁl ﬂ’?ﬁ'?]ﬁﬁfj 2 )

3. Itis+Vpp [V /&
1. They say that= It is said that = People say that = S + is said to + Vrt

=Y

2. It is believed that + SV= 5y
3. Itis reported that + SV = 3[%%%
4. 1tis rumored that + SV = Z{e
5. It is estimated that + SV = It is evaluated that + SV = Tti%h]r |ﬁ[
6. It is accepted that + SV = K HIREL
It is said that jogging is good for health. (BESUREE FR L - )
= They say that jogging is good for health.

= People say that jogging is good for health.
= Jogging is said to be good for health.

AELE R AV RO H G TR LR E R AR P
H #c* that / 4F#* those & o
(1) The weather of Kaohsiung is far hotter than the weather of Taipei.
The weather of Kaohsiung is far hotter than that of Taipei.
( Ibfépﬁi\in%“jift %737 0)
<Eif# weather (F1g{)I"] that |**—F‘<,“ o >
(2) Today’s libraries differ greatly from the libraries of the past.
= Today s libraries differ greatly from those of the past.
S EE Hﬁﬁ‘l'z“ﬁ’@ FRAS T AR )
<1g|f§,yhbrar|es (HEg)] thoser“ i

EiRY # w pp il
(1) most + EFESTRH + PRERIEREE = 28
most of the + & IR T '8
a. Most of the people need six to eight hours of sleep every night.
= Most people need six to eight hours of sleep every night.

(2) many + €FHEE + EUREIME = DL%.
many of the + &, E
Many students were absent today. ( 4~ L% % i—a‘@ﬁj o)

3 — 8
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= Many of the students absented themselves from school today.

(3) much + ¢FEIH + PRGN = %
much of the + &7 H18¢
Much of my money was spent on books. (Zyj&& %TL«&?;_P o)
= Much money of mine was spent on books.

(4){each + HBreE  + PR = B W
each of the + B &5
Each girl looks very happy. (& i 9% I‘{»fﬂ PR o

(5) either / neither + Higr¢/38 + BURRIBIEY = M=~ | BEE-
= either / neither  of the + ¥gB #/7 + EUFRIRIEL
a. Either of the two is qualified to teach English. (4 * Eﬁjé’ﬁ?ﬁi@

b. Neither of the girls has turned in the term papers to the instructor yet.

QR 2 E R ﬂ\;ﬁ ik

(6) { both + &Yy + FFIHE = FHE ..
both of the + £, FH¥aE
Both girls fall in love with John. (% JZ?B * =717 John)
= Both of the girls fall in love with him.
= They both fall in love with him.
= Both of them fall in love with him.
(7) some/any + ‘E’[?nj?ff/?ﬁg?
=some /any of the + &FHH1/HE8r + BRI/ HEEE
He gave me some apples. ({47575~ 5 <)
= He gave me some of his app[es <some + FaR= 5>
(8) none | F"l e T F[‘ F'~=EJ ° A6 P HE none boys
no (a) I have no money.
not (adv) = | have not any money.
No one of the boys is absent. (12|~ i ;5 | )
= None of the boys is/are absent. = Not one of the boys is absent.
= No one is absent.
(9) all+ EFH/HEE
= all the + ‘{I?EJEHIFEEJ'T + B EHEE
= all of the + &7 H1/Fa8t
a. All of the books are sold. (77 [ fﬂg WA e
= All the books are sold. = All books are sold
b. All money is spent. (57 ?[T%L e
(10) every + &I /every F,JEIIJI/ F'»=ﬁ] ‘1 Fl, gl o
< FI‘F:, every of the + &3>
a. | told every member to come. (Z5 L] &) Ay Eﬁﬁw\* °)

°)
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i 12 M

Eikf 10| other/another 2 # 7]
[ i | b HERAY
k¢ * one the other
A *k one the others
w O % one another the other
Y O Kk one another the others
e OO %k some others the others
N S S ik
(1) The fact that (he was dead) surprises me. ({3 ] Foif] R =5 B )

S N.cl = the fact \
(2) The reason why he failed is that he hadn’t studied hard.
S V+Nel  (FRREPVRIPRL T 22 <)
The reason for his perpetual unhappiness is because he was born with
an anxious nature. (5)
(19 T RGP RUSRL P R g 19 )
I #: The reason is that £l The reason is because

(3) Idon’t know whether (= if) he will come tomorrow or not.
(TP «17\ Ss o) (Whether ...or not o= diFd <)

Most scholars are unsure whether the wheel was first used by potters in
Mesopotamia or in the central or eastern parts of Europe.
(5] TECH ALY SR A o - ALY
He wasn’t sure Whether it Was safe to take the MRT.

(P PR FREL S 4 2 © )

(4) be+adj+ )’? + N = be + adj + that (SV)
s /T b (;ajtﬁaj +SV VEFES W) 0 T (that SV)

1. I am aware of the fact that he won’t come again. (Z #1314 1 ¥
fi+N  that = the fact = N.cl
| am aware of the danger. (=5 {31 £ & [ - )
= | am aware that there is a danger.
2. | am aware of what happened. (Z5 #[iFi[5E & 1951 < )
| am afraid of what may happen. (ﬂ‘l‘El}{i]’ FE AU <)

°)

R ra A e (MRS B o)

NV ERDT B o)

1) jﬁ?ﬂt“ L5
ALEEE(N ) + who (that) +V
whose + N +V

He is the boy who ran away.

whom (that) + S+V He is the boy whom | hate.
(2) £ P

He is the boy whose mother was dead.

o= 5 (1) + which (that)+ Vv
whose + N +V
which (that) + S + V

This is the watch which was stolen.
I like the book whose cover is blue.
| hate the house which he bought.

= '] F7 who, whom, which = that
(3) BRI [5 #17%, et SR - I8 S 6 -
7
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S+V+ LEF +who  +V (TEEFHITEF)
+ which
Itis 1 who am to blame. (7~ &|fVELTS <)
) E%EET?"*#{ Fﬁl*%%ﬁ%‘{?f |2 o
A BlE +V
E[ZJIJ“ +S+V
2T B +Ving / Vpp (53 )
(il ?;?J S+V, bl (W =(EhH)
= fH] Ving, BEERH| Vpp, FpIEUH] to + Vit

.U.OFD

EIRL3 M ik i 230 ¢ o that
1@ P TJ[’" ¢ 7 1fY who, whom, which
(HRH S £ that TR =, 2 A
(2) k= |‘fg—]1€ (k + fP’J) Efﬁ ) [ that rLEI
(3) Mlf=EiE + AT ’JE' TJI. * #F "] that o
all , any, few, much, every, little
the only, the sole, the unique, + /55 +that
the+ ﬁﬁ[ﬁk’z
) 45 :f T’%«‘E | that
) Ly - w; | e B
(6) = #T .'nﬁ—ﬁv wg

EIE L4 MG e 4 ke

A IR fRORE| I T P - g R -
= A R P
1. I' have nothing that | can depend on. (F$1< %3l - )
= | have nothing on which | can depend.
B. BH FIF‘E'] F5S+V +0 jfﬁﬁ?%’r’%ﬁﬁ R R I
his is the cafeteria which | eat breakfast in. (Hﬁ_ Paﬁ'%ﬂ VEE )
= This is the cafeteria in which | eat breakfast.
= This is the cafeteria where | eat breakfast.

—

EIRLE M AR = A+ BGS P

} (1) o} |E1 /h [ﬁﬂ—i I:[J , Irfﬁfﬁﬁ‘_lﬂﬂ HE ”"J pu FIJ. when, where, Why, how
(2) lﬁTﬁJﬁLa[E’}% S+ VGO T i 4 )
(3) Fi1 + SV = (B + SV

% He lives in Keelung, where is a large seaport and has a lot of beautiful
scenery, but he commutes to Taipei every day by car. (&)
’f?}lfj’ where @57 which

(9 = 7 I O SUBTHI] (B2 - iy P92 = D g EE 4™ - )
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[5% & i 3k ]
1. Mary knows that the only way to keep her ___ son from disturbing her job is to keep
him busy.
(A) hyperactive (B) bombastic (C) hallucinatory (D) pulsing
Ans: (A) (Mary #vif » ZBEH 52T 2 473 1 - P42 > LR A2k o)
2. As home-based entertainment becomes more attractive than live performances, some big
theaters in large cities find that they have to focuson __ productions with top stars
to attract the crowds.
(A) glorious (B) gloomy (C) glamorous (D) predictable
Ans: (C) (A2 p BT £ BT I {23514 > P A 33 ayl e BT Fg s P
Mipavmd A § LRt o)
3. The new-born baby _her father in many ways; her chin, nose and eyes seem to be the

e

exact copies of her father’s.
(A) reproduces (B) resembles (C) clones (D) modifies
Ans: (B) (R4 2k enf§ R 3> T T fol - B i}u{\ LRI o)
4. If these laws were to passed, an entire Pandora’s box or endless _ would open up.
(A) gratitude (B) doubt (C) litigation (D) obligation
Ans: (C) (B X8 » & 4 fg + & ﬂimif‘,]fg
5. More than 4 million mlddle—aged to older Americans are estimated to have this ,
and ultimately deadly disease.
(A) infested (B) debilitating (C) diminishing (D) decomposing
Ans: (B) (13 % BF 4w T v ¥ & L LRI A 4L K &g o)
6. Japanese men are taking __ and etiquette lessons as they think women are attracted
more to men with good looks than authority.
(A) seamstress (B) grooming (C) culinary (D) individualistic
Ans:(B)(P 25 A B4 B 2T 2R > v PRELIZZ A4 R A 2Lh B AR5l o)
7. The custom of drinking tea is deeply ____in almost all Chinese, including ethnic groups,
and has been for over a thousand years. From ancient times to today, tea has been a necessity
of the ordinary life of any Chinese.
(A) ventured (B) prestigious (C) acknowledged (D) ingrained
Ans: (D) (R & ¢ R A B+ & &3 25F AUFRF HOY i iG 77 RFRAL T &)
8. Beetles enjoyed success on a scale by any previous pop group.
(A) prevailed (B) rebuffed (C) unparalleled (D) arranged
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Ans:(C) (e 2 5 mirA G » £F 7 ?itéﬂhqti& o)
9. Theyoung ___ around America like wild dogs, randomly having sex and taking drugs,
concerned about clothes and music and maybe enjoying the landscape.
(A) roamed (B) enveloped (C) veered (D) bewildered
Ans: (A) (FdE A BERES G- o et - EF > L Ry > BETFRR -

10. Though his career was soaring, his marriage was

(A) appeasing (B) invincible (C) floundering (D) not well up
Ans: (C) (# enFE #£4op @ % BIFRriEda i )
11. The of the book consists of species accounts for each of about 75 native mussels.

(A) handful (B) bulk (C) spirit (D) cast

Ans: (B) (it- B hE & § ¥ - LT MBI G o)
12. The industry has refused to __ how much it loses per download, but says it loses

billions of dollars to piracy.

(A) reimburse (B) streak (C) oversee (D) divulge

Ans:(D) (GZ¥ FEESERFF T Londpd > A nd WRPEFITEAF AT B o)
13. His church becamea __ for thousands of people who fled the civil war.

(A) residency (B) route (C) retreat (D) sanctuary

Ans: (D) (1 chgc s @ S 7 & F @@l L R IR AT o )

14. Morrissey is to release a new single after his UK tour.
(A) epic (B) eminent (C) eccentric (D) emotional
Ans: (B) (Morrissey #F % ehi Facaw 7 difs > BaF TH & o)

15. The jury examines cases where children made __ of abuse and then later wanted to
retract them.

(A) allegations (B) victories (C) lingering (D) scandals
Ans: (A) (ZF Pl e Fo SX fivr 0 1R BT oo RREE o)
16. Those who had _ the death-face in combat were often unable to articulate
what they had seen.
(A) suffocate (B) exposed (C) glimpsed (D) fluttered
Ans: (C) (B PP 225030 2 g ent > A i3 3t dr il o)
17. Asizable population of ____ has settled here, and the town is unfortunately blighted by
that unsightly power station.
(A) shoplifters (B) exotica (C) congregators (D) expatriates
Ans: (D) (5 =W 5 ahfs B ot b TR - B RN T B KR )
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18. According to a new report from the Association of American Medical College, the number
of women applying to the nation’s medical schools has reacheda _____, after two decades
of steady growth.

(A) limitation (B) peak (C) criterion (D) plateau
Ans: (B) (45 % BIF F et § 8 0 ¢ il B2 F bRt IR o by RS
£ {6 i #% o) reachaclimax =reach apeak |:% fy#

19. Darwin was taught by his sisters notto _his feelings of grief and anxiety. He then
mainly expressed his disturbed feelings in physical symptoms: disorders of his stomach
and skin, cardiac palpitations, and dizziness and headaches.

(A) involve (B) verbalize (C) struggle over (D) live with
Ans: B) GE R 2 el ot W F 3 27 &G LRl o o1 27 e N
Lomat S o Sh AR ol R R 0)

20 The showwasa - the light wouldn’t work, one actor forgot his lines and another

fell off the stage.
(A) fiasco (B) battalion (C) paradox (D) deception
Ans: (A) GEHiF iz 24 pe o BREB - FALT BRI BRTHRSa0)

21. Many runners have had the opportunity to experience a state of ____ while running.
(A) commotion (B) aroma (C) chant (D) euphoria
Ans: (D) (3% % 884 % 357 1 ¢ Wk T15a % P engiif | o)

22. A string of doctors agreed she was suffering from Lyme disease and prescribed antibiotics

but that did nothingto _____ her pain.

(A) engross (B) alleviate (C) excel (D) ascribe

Ans: (B) (F 2 3 i v 97 B M &l - B2 0% > R dF BiFFERR )
23. Most telephone lines have not worked since 2003 when rebels _ the system. Bridges

were destroye(D) Many hospitals and schools are in ruins.
(A) whittled (B) regulated (C) sabotaged (D) modified
Ans: (C) (1% % T 354Uk £ 2003 # Y 5 FRUR 1 - T A4 AftR -~ FIRg A0k o)
24. Deep-sea diving has long been dangerous because ofa__ known as “the bends,”
which can cripple or kill a diver.
(A) condition (B) description (C) saturation (D) speculation
Ans: (A) (iF3 Bk - B pRixpia > FIS TR A R R AR F AR S o)
25. Our fascination with dinosaurs derives from the slowly unfolding history of their

and the gradual unearthing of the truths of their existence.
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(A) disadvantage (B) discipline (C) discovery (D) distinction
Ans: (C) (3411 € Fap v BATATF b W H e > frd 2 5238 0)

26. When you make a decision that is with the overarching trend, the trend helps you
along.

(A) compatible (B) hospitable (C) indispensable (D) vulnerable
Ans : (A) (Ireid-2 5 7 & 4 0% 0 i BS iR — ) g o)
27. Topics covered in thisbook _ the formation and identification of rocks, their
different types, where to find them, and how to collect and care for them.
(A) propose (B) include (C) cultivate (D) accumulate
Ans: (B) (A% 5Tt AAL& 2o H B2 2SS PR AT A F o KR ol 25k o)
28. The elephant, long considered one of the most _____ creature of the world because of
the value of its ivory tusks, finally seems to be making some headway in the battle
against extinction.
(A) imperial (B) primary  (C) essential (D) probable
Ans:(C)(F1% 7 B > * - ERZER 25 FIPLF4e& 24 L0 o)

29. Both presidential candidates are ona __ that could alter the current economic and

political situation.
(A) mainstay (B) quest (C) verse (D) promotion
Ans: (B) (A i iEiE A 8RS AL R R L R S rn EAMER o)

30. Martin Luther King said, “The oppressed must never allow the conscience of the
oppressor to slumber. To accept injustice or __ passively is to say to the oppressor
that his actions are morally right.”

(A) presents  (B) recession  (C) inflation (D) segregation
Ans: (D) (5 7 B4t & 2 8 3 TA R H 8 R F h U pk > i R
FEXER ”@«Hﬂmﬁ%m#mw)
31. Education should teach students to be tolerantand =~ of difference.
(A) respect (B) respectful (C) respected (D) respectable
Ans:(B) ()T X FRBHELFL ~LELIRRL )

33.By __ many different and conflicting ideas and beliefs, people learn to think critically.
(A) palliating  (B) prefiguring (C) encountering (D) gloating
Ans: (C) (Fid 3 it B Pt felie R o 4 PR g 2LY o)

34. Initially Monet reacted with __ to the Boudin seascapes, but later he was influenced

and instructed by Boudin to paint nature in the open air.
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(A) affliction (B) stimulation (C) aversion (D) conversion
Ans: (C) (e > A i 2 cnjd 2 > 2 (8> SHENF L gL p R
XAPHE )
35. In the summer of 1947, by Polish government | Auschwitz was turned into a
national museum.
(A) rancor (B) impotence (C) autocracy (D) decree
Ans: (D) (1947 # » i fF 5™ 4 % Auschwitz :c 5 B 2 2 4+ 45 < )
36. Surprisingly, the masterpiece by Picasso on exhibition in the museum was found to be

a

(A) portfolio (B) counterfeit (C) specialty (D) hierarchy
Ans: (B) (4 * R A E Dol + 2 ik (T 5 R Behe)
37. She seeksto __ the knowledge necessary for entering on a new form of labor.
(A) flag (B) acquire (C) eliminate (D) appreciate
Ans: (B) (# 8 R @ F Arendf 29013 2 ik o)
38. Stereotypes are a kind of gossip about the worl(D) They have something to do with
(A) perseverance  (B) prejudice  (C) procrastination (D) wit
Ans: (B) (& /1 5 #9473 21 5 % 2 e enfidsf > AR 30 Ml ALa © o)
39. Book censorship, by a free and open exchange of ideas suppresses the vitality
of the classrooms and threatens students’ freedom to learn.
(A) inhibiting (B) exhibiting (C) excavating (D) transmuting
Ans:(A) (A& DF A4 RIERET LA Eampd > BRIFEFEFY TF4 fop o)
40. For many years, Richard has been my __, who is always full of wisdom and a constant
source for consultation.
(A) mentor (B) matron (C) amateur (D) gourmet
Ans : (A) (#ic# %k Richard = & £ 2 fF E 5 » 8 BLP 47 > A5k % <)
41. Guam, an island in the West Pacific, was ceded to the United States.
(A) givenoverto  (B) attacked by  (C) ruled by (D) influenced by  (E) kept
Ans: (A) (=3t d * T E R > BT EZF o)

42. Harriet Beecher Stowe was an obscure writer until the publication of Uncle Tom’s Cabin.

(A) anonymous (B) unknown (C) infamous (D) eminent

Ans: (B) (Stowe 15”2 4 g 457 w0 o AR LI E B iR
43. A benign lesion usually has a regular border.

(A) humane  (B) pertified  (C) congenial (D) harmless
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Ans:(D) (L HEp%F £ FALFR )

The profuse tropical forests of the Amazon are inhabited by different kinds of animals.
(A) wild (B) distant (C) abundant (D) immersed

Ans: (C) (I B dpim £7F c#F SR> § 2 L fhehd g o)

His ___ hunger made him obese.

(A) flagrant  (B) rampant  (C) insatiable (D) obvious  (E) larger

Ans: (C) (i B # £ efE s i @ de il 4o %k o)

Besieged by debts, the corporation eventually hadto __ for bankruptcy.

(A) give  (B)solicit  (C) file (D) accommodate  (E) succumb

Ans:(C) (=P g F a8 Jm > B30t i o)

When the judge spared the charlatan, we wereall

(A) exonerated  (B) flabbergasted  (C) released (D) absolved  (E) discharged
Ans: (B) (i FATAIN @ HHF > NP ERIERT o)

Our school library is ___ with different kinds of books.

(A) full  (B) steeped  (C) deficient (D) madeup  (E) replete

Ans: (B) (1R 475 &0 L henigd o)

Mr. Johnson is a very popular candidate, and all his supporters have a great ___
for him.

(A)regard (B)record (C)like (D) reward (E) regret

Ans: (A) (Johnson £ 2 & € fLch > X FHMFERE W o)

I radishes but I love spinach.

(A)take (B)get (C)fancy (D) loathe (E) like

Ans: (D) (A3 REF » L EHAE °)

He made an egregious mistake and he triedto __ the responsibility by cheating.
(A) evoke (B) suspend (C) evade (D) elicit.  (E) confront

Ans: (C) (s & a® < 4R > Jr s X /A B F T o)

Usually the breakup of peace talks would __the conflicts between the two countries.
(A) cause (B) halt (C) escalate (D) improve (E) initiate

Ans: (C) GE ¥ frT Xk B > ¢ 2 3 3 MenirR o)

Dr. Beyer _ medication to palliate the acid condition which had incapacitated
the patient.

(A) described (B) prescribed  (C) transcribed (D) imposed (E) subscribed
Ans: (B) (Beyer ¥ 2 B % = vl jpdmp 4 33 chs &k o)

3 — 17



